One of the main issues in many cities across the world is traffic congestion.Urban sprawl: More
individuals drive greater distances as cities grow.Investing in public transportation is one of the
suggested solutions because it can contribute to a decrease in the number of cars on the road.Investing
in public transportation is one of the suggested solutions because it can contribute to a decrease in the
number of cars on the road.Because public transit is inadequate and not always dependable or effective,
.more individuals may choose to drive.It may lead to traffic jams, pollution, and driver annoyance
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